125 EXC 2005 <2005><EU><7103E0>
IGNITION SYSTEM

Pos Part Number Description Additional Text Quantity
3 50339005200 FLYWHEEL KOKUSAN 2K-3 '98 125-200 EXC-EU 1.00
6* 54839204000 STATOR KOKUSAN 2K-3 2005 1.00
10* 47039090000 SPARK PLUG CAP NGK REINFORC.04 1.00
11 0770150040 O-RING 15,00X4,00 NBR 70 125 1.00
13 50339093100 SPARK PLUG NGK BR 9EVX 125 SX 1.00
16 50339006000 IGNI.COIL KOKU. IG5127 1.00
31* 50339031600 CDI UNIT 125 EXC 2005 1.00
32* 54839032000 WIRING HARNESS FOR CDI 2-ST05 1.00

32490



34~ 80011034000 VOLTAGE REGULATOR 04 300 EXC USA 1.00
35 50311035000 CONDENSATOR 2200MF ADP-48 2000 250/300/380 EXC EU, AUS | 1.00
38 0014060103 HH COLLAR SCREW M 6X10 WS=8 2.00
40 0015050163 HH COLLAR SCREW M 5X16 WS=8 3.00
42 0015060123 HH COLLAR SCREW M 6X12 WS=8 1.00
43 0015060163 HH COLLAR SCREW M 6X16 WS=8 FE, FS 2.00

* = New part




